110.

111.

112.

113.

114.

115.

116.

Which of the following planets takes the longest time for one revolution round the Sun ?

(a) Earth
(b) Saturn
(c) Jupiter
(d) Mars

A drop of water is spherical in shape. This is due to :
(a) Surface tension

(b) Low temperature

(c) Airresistance

(d) Viscosity of water

Which one of the following Indian Banks is not a nationalised bank ?
(a) Corporation Bank

(b) Dena Bank

(c) ICICI Bank

(d) Vijaya Bank

Who among the following invented Lasers ?
(a) Theodore Maiman

(b) Denis Papin

(c) William Morton

(d) Francis Crick

Who is the President of the Council of Scientific and Industrial Research ?
(a) President of India

(b) Vice-President of India

(c) Prime Minister of India

(d) Union Minister of Science and Technology

Which one of the following States is smallest in area ?
(a) U.P.

(b) M.P.

(c) Rajasthan

(d) Uttarakhand

The moons of the Planet Jupiter was discovered by any one of the following scientist :

(a) Newton

(b) Galileo

(c) Kepler

(d) Copericus
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110. F1 8 & i 91 76 4 1 UF 995 AT H T Afeeh THd A € 2
(a) Tl
(b) WM
(c) Fewd

(d) wTeA

111. Wﬁ%ﬁwﬁﬁ%ww%
(a) TSI
(b) HH ATTHH
(c) g SRy
(d) STeT I TFH

112. T 9Rdr a6l | | i 91 ULaHd 5% T8l § ?
(@) HRURTE g6
(b) TAEH
(c) STEIMEME. ok
(d) fasmn g

113. 7= ° 9 fFa ooR &1 affaepr e ?
(a) ToEERATA.
(b) = U=
(c) faferaw ArA
(d) a9 foask

114. “Hifget 3 Aref=ies v el = &1 s s € 2
(a) WRE % Ui
(b) YA & I
(c) qR % TuH T
(d) ghwae it 3 aEd ue st
115. =1 | @ & 91 7Y, &% § 99 BT € 2
(a) I URH
(b) T WRW
(¢) TST=H
(d) @S

116. JeEiid W & TxH1sH B @i e HQ BT T a3 el 2
(a) A :
(b) Trefiferar
(c) H=R
(d) HRHBT
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117.

118.

119.

120.

121.

122.

123.

The energy of winds is

(a) only potential

(b) only kinetic

(c) Electrical -

(d) Potential and kinetic both

The ‘Standard Deviation’ of natural numbers from 1 to 5 is

(a) 2.0
(b) 1414
(c) 1.48
(d) 1.46

7 6
The difference between 3 and 7 of a number is 20, then the number is

(a) 1140
(b) 1120
(c) 1136
(d 1132
The Central Statistical Unit was established in the year
(a) 1947
(b) 1949
(¢) 1951
(d) 1961

A passenger travels from Delhi to Meerut at a speed of 30 km/hr and return with a speed of
60 km/hr. What is his average speed ?

(a) 40
(b) 45
(c) 50
(d) 48

Shoe size of most of the people in India is No.8. Which measure of central value does it
represent ?

(a) Mean
(b) Median
(c) Mode

(d) Fourth decile

Suresh types 150 words in 4 minutes and Mohan types 150 words in 5 minutes, then in how
much time they together type 375 words ?
25
(a) 3 minutes
(b) 3 minutes
50 .
(c) 9 minutes

(a) 5 minutes
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117. gerail ot St el &
(a) haw fefast
(b) A TSt

(c) dFd
(d) feafast &ix st g

118. Wi Gt 1 | 5 b &1 “HAS foaet &
@@ 2.0
(b) 1.414
(c) 1.48
d) 1.46

119. Wa’wé{%wmﬁ%g I =L AT 20 &, af G&1 &

(a) 1140
(b) 1120
(c) 1136
(d) 1132

120. H=1T Wit THTS B TOAT o1 a9 g% off, aE ¥
(a) 1947
(b) 1949
(c) 1951
(d 1961

121. U I feoedt @ 2 30 fordt ufa gue =6t nfq @ S € X 60 fopdt wia gue =t i @ e st
€ | 3T 3T T T § 2
(a) 40
(b) 45
" (c) 50
(d) 48

122. |HERI: 9RA § Sl ST SHR 8 TR 6 &Il & | F8 i Gt b9 UgTa b1 Wierreed et & 2
(a) H&m :
(b) eI
(c) SR
(d) = H |
123. Q1 4 S § 150 VI TRU HaT ¢, S&ih qig 5 e & 150 o=, o Sded 375 9IS Uk Wiy
25T I §U o e 9o ol 2
(a) %?&H?f
(b) 3
50
(©) 3ﬁ=l=|z
(d 5t
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